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%M%’*ﬁm BEMOBHFAEMERERR (11 ASHHIRE)

EHe BH4 P L134 'Y L137 ERAOAE | #EH
1A 18(®) |ADE %ﬁ,E%LR TR (3. 89KiH) | THH (3. 34KiH) 3 108308
1A 5 BKOEA EER THRH (3. 86KiH) | A&k (3. 32:KiH) & 11818

Lot EBHE | THE (3. 86KM) | FHRE (3. 325H) 35 11A18
1A 680K kS JILz— | FERH (3. 86KiH) | Ik (3. 32:Ki#H) fEHA 11818
L 1) TR (3. 885KiH) | TH&EH (3. 34kKiH) & 11A1R
1E 7EGR) Fo~D LT TR (3. 865KiH) | Ak (3. 29:Ki#H) fEHA 11858
BREO—XA EER THEH (3. 86KiH) | T4 (3. 29KiH) & 11A58
BHLLH EFR TR (3. 89KiH) | TH&H (3. 33kKiMH) & 11A6R
1A 8A(%) [F1L AR | T (3. 89%) | FHRH (3. 33ki#) 3 11868
SDFEWNG RIS TR (3. 89KiH) | TH&H (3. 33kKiMH) & 11A6R
1MANAA) |&& itimE THRH (3. 90KiH) | TR (3. 34KiH) %A 11A8H
11R12B (X)) [Z1F5 EHE THEH (3. 88K | TH#H (3. 32:KiH) &M 11A8A
HE13E 0K 125 AR TR (3. 88Kiii) | F#&H (3. 32:KiH) %M 11A118
Bx JL TR (3. 88Kii) | &t (3. 33Kim) %M 11A11H
A148 (5) Loy AVRROT | T (3. Q0KH) | FHRH (3. 35KiH) %M 118128
5% =EER T (3. 86KiH) | F#&H (3. 32:KiH) %M 118128
1B15E (&) 5y A THEH (3. 89KiH) | TH#H (3. 34KiH) &M 118138
K&K aIIET THRH (3. 87Ki) | TR (3. 32KiH) &M 11A138
1B18E (8) BIE5H EER THEH (3. 89KH) | TH#H (3. 31KiH) &M 118158
KR I o TH#RH (3. 87Ki#) | TR (3. 30KiH) &M 11A158
11A198(A) |[hF LT THEH (3. 89KiH) | THRH (3. 31KiH) %A 11A158
11A208 (X) [BRA—RA EER THRH (3. 88Kiii) | A&t (3. 30KiH) &=/ 11A18H
11A218 (K) |BLEA EFR TH#E (3. 88Kil) | TR (3. 32KiH) &M 11A198
LhL TIVR 4.42 THRH (3. 36KH) %A 11A208
11A228(K) =52 TAYH TH#EH (3. 93KiE) | T4 (3. 35KiH) &M 118208
Lot RHR THE (3. 8OKiH) | TR (3. 47KiH) %A 11A208
11A25E(8) iREE FUE TR (3. 92:Kii) | F#&H (3. 33Kim) fE=/A 118228
&4 I ) TR (3. 88Kiii) | A&t (3. 30KiH) fE=/A 118228
11A268 (%) 3L LT THEH (3. 92:KiH) | TR (3. 34KiH) %A 11A228
BKUOEA EER THRH (3. 90KiH) | & (3. 32:KiH) &M 118228
BEO—X BER TR (3. 86KiiH) | TH&H: (3. 30KiH) fEFA 118258
11A278(K) (A% LT THRH (3. 90K(H) | F#&H (3. 33Kih) &M 118258
ADE FRE TR (3. 89KiiH) | TH&H: (3. 32:KiH) f=FA 118258
11A288 (K) |Fe~D AL T (3. 94KiH) | T (3. 34KiH) &M 11A268
L3 FL AURRST | FHRH (3. 90KiH) | THRH (3. 32ki#) f=FA 118278
1MA298 (K) |$11] EER T (3. 91KiE) | T (3. 33KiH) &M 11A278
ESE Y F—RESUT | TR (3. 93KH) | TR (3. 345K f=F 118278




